PAPER • OPEN ACCESS

Direct Sum and Projectivity of SemiHollow-Lifting Modules

To cite this article: Anfal Hasan Dheyab et al 2020 IOP Conf. Ser.: Mater. Sci. Eng. 871 012050

View the article online for updates and enhancements.

You may also like

- <u>The S2 VLBI Correlator: A Correlator for</u> <u>Space VLBI and Geodetic Signal</u> <u>Processing</u> B. R. Carlson, P. E. Dewdney, T. A. Burgess et al.
- Fully Dual Closed Stable Modules Shukur Neamah Al-Aeashi, Papa Cheikhou Diop and Mohammad Reza Farahani
- <u>Stable Hollow-lifting Modules and related</u> <u>concepts</u> Saad Abdulkadhim Alsaadi





DISCOVER how sustainability intersects with electrochemistry & solid state science research



This content was downloaded from IP address 3.15.6.77 on 05/05/2024 at 02:19

The First International Conference of Pure and Engineering Sciences (ICPES2020)

IOP Conf. Series: Materials Science and Engineering 871 (2020) 012050 doi:10.1088/1757-899X/871/1/012050

IOP Publishing

Direct Sum and Projectivity of SemiHollow-Lifting Modules

Anfal Hasan Dheyab, Department of Mathematics, College of Education Basic, Diyala University

Zahraa jawad kadhim **Computer Engineering, Al-mansur University College**

Mukdad Oaess Hussain, College of Education for pure science, Divala University

Abstract

Let \mathbb{R} be a ring with identity and let T be a unitary left Module over \mathbb{R} . In this paper, we give some cases when a direct sum of hollow Modules is semihollow-lifting, Also; we give a condition under which a direct sum of two Modules is semihollow-lifting,

Keywords: Semhollow lifting Modules, projective Modules.

1. Introduction

A Submodule S of an \mathbb{R} -Module T is small Submodule of T (S \ll T) if for every Submodule D of T such that T = S + D implies D = T[1]. A Submodule H of an \mathbb{R} -Module T is semismall of T (H \ll_S T) if H = 0 or H/F \ll T/F for all nonzero Submodule F of H[2]. Let T be an \mathbb{R} -Module and H, F be Submodules of T such that $F \subset H \subset T$. F is called semicoessential Submodule of H in T (F \subseteq_{sce} H in T) if $\frac{H}{F} \ll_{s} \frac{T}{F}[3]$. An \mathbb{R} -Module T is semihollow-lifting if for every Submodule H of T with $\frac{T}{H}$ hollow, there exists a Submodule F of T such that $T = F \oplus F^*$ and $F \subseteq_{sce} H$ in T[4].

Let T_1 and T_2 be \mathbb{R} -Modules, recall that T_1 is said to be T_2 -projective if for every Submodule F of T₂, any homomorphism g: $T_1 \rightarrow \frac{T_2}{F}$ can be lifted to a homomorphism w: $T_1 \rightarrow T_2$. i.e. if $\pi: T_2 \rightarrow \frac{T_2}{F}$ is the natural epimorphism, then there exists an homomorphism w: $T_1 \rightarrow T_2$ such that $\pi \circ w = g[5]$.



 T_1 and T_2 are relatively projective if T_1 is T_2 -projective and T_2 is T_1 -projective.

Content from this work may be used under the terms of the Creative Commons Attribution 3.0 licence. Any further distribution of this work must maintain attribution to the author(s) and the title of the work, journal citation and DOI. Published under licence by IOP Publishing Ltd 1

Example1[5] Consider $T_1 = Z$ as Z-Module and $T_2 = Z_{p^{\infty}}$ as Z-Module, thus T_1 is relatively T_2 -projective.

Now, we prove the following proposition.

Proposition2 If T is a semihollow-lifting \mathbb{R} -Module and for every decomposition $T = U \oplus V$, U and V are relatively projective. Then for every Submodules X and Y of T with $\frac{T}{X}$ hollow and T = X+Y, there exists an idempotent $e \in End(T)$, such that $e(T) \subseteq X$, (I-e)(T) $\subseteq Y$ and (I-e)(X) \ll_s (I-e)(T).

Proof: Let X and Y be Submodules of T such that T = X+Y and $\frac{T}{X}$ hollow. Since T is semihollow-lifting, thus there exists a Submodule E of X such that $T = E \bigoplus V$, for some $V \subseteq T$ and $X \cap V \ll_s V$. By modular law, $X = X \cap T = X \cap (E \oplus V) = E \oplus (X \cap V)$, hence $T = X + Y = E + (X \cap V) + Y$. But $X \cap V \ll_s V \subseteq T$, therefore T = E + Y. By our assumption V is E-projective, thus by [6, Lemma 5], there exists $D \subseteq Y$ such that $T = D \oplus E$. Now, consider the projection map π : T \rightarrow E and the inclusion map i: E \rightarrow T with respect to decomposition $T = D \oplus E$. Let $p = i \circ \pi$: $T \to T$. Clearly $p \in End(T)$ is an idempotent and $p(T) \subseteq X$. Claim that (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in D$, (I-p)(T) = D, let $t \in T$ thus t = h + d, where $h \in E$ and $d \in D$, (I-p)(T) = D, let $t \in D$, (I-p)(T) = D, let (I-p)(T) = D. $p(t) = I(t) - p(t) = t - (i \circ \pi)(t) = h + d - \pi(h + d) = h + d - h = d \in D$. Thus $(I-p)(T) \subseteq D$. Let $d \in D$ this implies that p(d) = 0. Then, (I-p)(d) = d - p(d) = d, and hence $d \in (I-p)(T)$. Then $D \subseteq (I-p)(T)$. But $D \subseteq Y$, therefore $(I-p)(T) \subseteq Y$. Claim that $(I-p)(X) = X \cap (I-p)(T)$ $= X \cap D$. To see that. Let $d \in (I-p)(X)$, thus there is $m \in X$ such that d = (I-p)(m) = m. p(m). Then $d \in X$ and $d \in (I-p)(T)$. So $d \in X \cap (I-p)(T)$. Hence, $(I-p)(X) \subseteq X \cap (I-p)(T)$. Let $u \in X \cap (I-p)(T)$, thus $u \in X$ and $u \in (I-p)(T)$. There is $q \in T$ such that u = (I - I)p(q) = q - p(q). Then $u+p(q) = q \in X$, thus $u \in (I-p)(X)$. It is easy to show that $X \cap D \cong X \cap V$. But $X \cap V \ll_s V \cong D$, therefore $(I-p)(X) \ll_s (I-p)(T)$.

Note: Direct sum of two semihollow-lifting Modules need not be a semihollow-lifting Module[4,Examples3].

Let T_1 and T_2 be \mathbb{R} -Modules, T_1 is semismall T_2 -projective (nearly T_2 -projective) if for every homomorphism $g:T_1 \rightarrow \frac{T_2}{A}$, where A is a Submodule of T_2 and Im $g \ll_s \frac{T_2}{A}$ (Im $g \neq \frac{T_2}{A}$), can be lifted to a homomorphism h: $T_1 \rightarrow T_2$.



Recall that a decomposition $T = \bigoplus_{i \in I} T_i$ is complement direct summands if for every direct summand F of T there exists a subset $J \subseteq I$ such that $T = F \bigoplus (\bigoplus_{i \in J} T_i)[7, p.125]$.

The following proposition gives a condition under which a direct sum of semihollow-lifting Modules is semihollow-lifting.

Proposition3 Let $T = T_1 \bigoplus T_2$ such that T_1 and T_2 are semihollow-lifting Modules. if T_1 and T_2 are relatively projective, thus T is semihollow-lifting.

Proof: Let S be a Submodule of T such that T/S is hollow. Thus $T = T_1+S$ or $T = T_2+S$. Assume that $T = T_1+S$ (In case $T = T_2+S$ being analogous). Thus $T_1/S \cap T_1$ is hollow. But T_2 is T_1 -projective, there exists a Direct summand of T contained in S such that $T = T_1 \bigoplus D[8, 41.14]$. Thus $S = (T_1 \cap S) \bigoplus D$. But T_1 is semihollow-lifting, there exists a direct summand W of T_1 such that $W \le S \cap T_1$ and $S \cap T_1/W \ll_S T_1/W$. Then $W \bigoplus D$ is a direct summand of T and $W \bigoplus D \le (S \cap T_1) \oplus D$. Assume U be a Submodule of T with $W \oplus D \le U$ and $(S \cap T_1) \oplus D/W \oplus D + U/W \oplus D = T/W \oplus D$. Thus $(S \cap T_1) + D + U = T$. So $(S \cap T_1) + U = T$. $S \cap T_1/W \ll_S T_1/W$ thus U = T. Then $W \oplus D$ is a semicoessential submodule of $(S \cap T_1) \oplus D = S$ in T.

Now, the following propositions give some cases when a direct sum of semihollow Modules is semihollow-lifting.

Proposition4 Assume $T = \bigoplus_{i \in I} T_i$, where all T_i are hollow and $\bigoplus_{i \in I} T_i$ complement direct summands. If T is semihollow-lifting, thus $\bigoplus_{i \neq j} T_i$ is nearly T_j -projective.

Proof: Let W any proper Submodule of T_j and the homomorphism g: $\bigoplus_{i \neq j} T_i \rightarrow \frac{T_j}{w}$ with Img $\neq \frac{T_2}{w}$ and the natural epimorphism $\pi: T_j \rightarrow \frac{T_j}{w}$. Define $V = \{a+b \mid a \in \bigoplus_{i \neq j} T_i, b \in T_j\}$ and $g(a) = -\pi(b)$. We claim that $T = V+T_i$. Clearly $V+T_i \subseteq T$. Let $t \in T$, thus t = a+b, where $a \in \bigoplus_{i \neq j} T_i$ and $b \in T_j$. Therefore, $g(a) \in \frac{T_j}{W}$. Since π is onto, there exists $b^* \in T_j$ such that $\pi(b^*) = g(a)$, therefore $g(a) = -\pi(-b^*)$. Then $t = a+b = a+b^*-b^*+b$, where $a+b^* \in V$ and $-b^*+b \in T_j$, then $t \in V+T_j$ and $T \subseteq V+T_j$. Then $T = V+T_j$, $W \subseteq V$. Now, $\frac{T_j}{V}$ $=\frac{V+T_j}{V}$, thus by second isomorphism theorem $\frac{V+T_j}{V} \cong \frac{T_j}{V \cap T_i}$. Since T_j is hollow, thus $\frac{T_j}{V \cap T_i}$ is hollow and then $\frac{T}{V}$ is hollow. Since T is semihollow-lifting, so there is a direct summand F of T such that $F \subseteq_{sce} V$ in T. Then by[3,Proposition7], $\frac{T}{F}$ is hollow. But the decomposition of T complement direct summands, so there is a subset $J \subseteq I$ such that $T = F \bigoplus (\bigoplus_{i \in J} T_i)$. Since $\frac{T}{F}$ is hollow, thus $\frac{T}{F}$ is indecomposable. Hence $T = F \bigoplus T_k$, for some $k \in I$. Now, $\frac{T}{F} = \frac{V+T_j}{F} = \frac{B}{F} + \frac{T_j+D}{F}$. Since $F \subseteq_{ce} V$ in T, thus $T = T_j + F$. Claim that k = j. If $k \neq j$ thus g is an epimorphism, to see that, let $x_j + W \in \frac{T_j}{W}$. Since π is onto then there exists $x_i \in T_j$ such that $\pi(x_j) = x_j + W$. Then $x_j \in T$, and $x_j = d + m_k$, where $d \in F$, $m_k \in T_j$ T_k .But $F \subseteq V$ therefore $d \in V$.Then d = a+b, where $a \in \bigoplus_{i \neq j} T_i$, $b \in T_j$ and $g(a) = -\pi(b)$ and hence $x_j = a + b + m_k$. So $x_j - b = x + m_k$. Since $k \neq j$ thus $T_k \subseteq \bigoplus_{i \neq j} T_i$ and hence $x_j - b = x + m_k$. $b = x + m_k \in \bigoplus_{i \neq j} T_i \cap T_j = 0$. Then $x_j = b$. Since $g(a) = -\pi(b)$, thus $g(-a) = \pi(b)$ and hence $g(-a) = \pi(x_i) = x_i + W$. Thus g is an epimorphism, which is a contradiction. Thus we get k = j and hence $T = F \oplus T_i$. Now, let $\beta: F \oplus T_i \to T_i$ be the projection map, thus $\pi \circ$ $\beta|_{(\bigoplus_{i\neq i} Ti)} = g$, to see that:



Let $z \in \bigoplus_{i \neq i} T_i$ thus $z \in F \oplus T_i$ and hence $z = d + m_i$, where $d \in F$, $m_i \in T_i$. Since $F \subseteq V$ thus $d \in V$ and hence d = a+b, where $a \in \bigoplus_{i \neq j} T_i$, $b \in T_j$. Thus we have $\pi \circ \beta|_{(\bigoplus_{i \neq j} T_i)(z)} = \pi \circ$ $\beta_{i\neq i}T_{i}(d+m_{i}) = \pi(m_{i})$. But $z = d+m_{i} = a+b+m_{i}$, where $a \in \bigoplus_{i\neq i}T_{i}$, $y \in T_{i}$ and g(a) = - $\pi(b)$, Therefore $z - a = b + m_j \in \bigoplus_{i \neq j} T_i \cap T_j = 0$. Then z = a and $m_j = -b$. Now, $\pi \circ T_j = 0$. $\beta|_{(\bigoplus_{i\neq j}Ti)(z)} = \pi(m_j) = \pi(-b) = -\pi(b) = g(a) = g(z)$. Hence $\pi \circ \beta|_{(\bigoplus_{i\neq j}Ti)} = g$. Then $\bigoplus_{i \neq i} T_i$ is nearly T_i -projective.

Proposition5 Let $T = \bigoplus_{i \in I} F_i$ be a direct sum of hollow Modules F_i such that the decomposition $\bigoplus_{i \in I} F_i$ is complement direct summands. If there is no epimorphism between F_i and F_j (i \neq j) and T is semihollow-lifting, then $\bigoplus_{i\neq j} F_j$ is F_i -projective for each $i \in I$.

Proof: Assume W be a proper Submodule of T with $T = W + F_i$. Now, by second isomorphism theorem, $\frac{T}{W} = \frac{W + F_i}{W} \cong \frac{F_i}{W \cap F_i}$. Since F_i is hollow for all $i \in I$, thus $\frac{T}{W}$ is hollow. But T is semihollow-lifting, so there is a direct summand X of T such that $X \subseteq_{sce} W$ in T. Then by[3,Proposition7], $\frac{T}{X}$ is hollow. Now, $\frac{T}{X} = \frac{W+F_i}{X} = \frac{N}{X} + \frac{F_i+X}{X}$. This implies that $T = X+F_i$. Since the decomposition $\bigoplus_{i \in I} F_i$ complement direct summands, thus there exists a subset J of I such that $T = X \oplus (\bigoplus_{i \in J} F_i)$. But $\frac{T}{x}$ is hollow, so $\frac{T}{x}$ is indecomposable. Then $T = X \oplus F_k$, for some $k \in I$. Claim that i = k. If $i \neq k$, let $\pi: X \oplus F_k \to F_k$ be an epimorphism thus $\pi | Fi: H_i \to F_k$ is an epimorphism. To see that, let $f_k \in F_k$, thus $f_k \in T$, hence $f_k = x + f_i$, where $x \in X$ and $f_i \in F_i$. Thus $\pi(f_k) = \pi(x) + \pi(f_i)$ and hence $\pi(f_k) = \pi(f_i)$. This implies that $\pi(f_i) = f_k$. Then there is an epimorphism between F_i and F_k with $(i \neq k)$ which is a contradiction. Therefore i = k, hence $T = X \oplus F_i$. Then by [6, Lemma 5], $\bigoplus_{i \neq i} F_i$ is F_i -projective for each $i \in I$.

Let T_1 and T_2 be \mathbb{R} -Modules, T_1 is h-semismall T_2 -projective if every homomorphism g:T₁ $\rightarrow \frac{T_2}{W}$, (where W is a submodule of T₂, $\frac{T_2}{W}$ is hollow and Im g $\ll_s \frac{T_2}{W}$) can be lifted to a homomorphism $\varphi: T_1 \rightarrow T_2$.

IOP Publishing

IOP Conf. Series: Materials Science and Engineering 871 (2020) 012050 doi:10.1088/1757-899X/871/1/012050



Remark6 Let T_1 and T_2 be two \mathbb{R} -Modules then we have the implication:



Proof: Clear.

Example7 Consider $T_1 = Z$ as Z-Module and $T_2 = Z_2$ as Z-Module, then T_1 is h-semismall T_2 -projective.

The following lemma gives a characterization of h-semismall projectivity.

Lemma8 Let T_1 and T_2 be Modules and $T = T_1 \bigoplus T_2$. If T_1 is h-semismall T_2 - projective then for every Submodule E of T such that $\frac{T}{E}$ is hollow and $T \neq T+E$, there exists a Submodule E^* of E such that $T = E^* \bigoplus T_2$.

Proof: Clear.

The following proposition gives conditions under which a direct sum of two Modules is semihollow-lifting.

Proposition9 Assume $T = T_1 \oplus T_2$ such that T_1 is h-semismall T_2 -projective and T_2 is semihollow-lifting. If for every Submodule E of T such that $\frac{T}{E}$ is hollow, $T \neq T_1 + E$. Then T is semihollow-lifting.

Proof: Let E be a Submodule of T such that $\frac{T}{E}$ is hollow. Thus by our assumption $T \neq T_1 + E$. Now, $\frac{T}{E} = \frac{T_1 \oplus T_2}{E} = \frac{T_1 + E}{E} + \frac{T_2 + E}{E}$. But $\frac{T}{E}$ is hollow, therefore $E \subseteq_{sce} (T_1 + E)$ in T. Then $T = T_2 + E$. Since T_1 is h-semismall T_2 -projective, thus by Lemma8, there exists a Submodule E^* of E such that $T = E^* \oplus T_2$. By second isomorphism theorem, $\frac{T}{E} = \frac{T_2 + E}{E} \cong \frac{T_2}{E \cap T_2}$. Then $\frac{T_2}{E \cap T_2}$ is hollow. But T_2 is semihollow-lifting, thus there is a direct summand U of T_2 such that $U \subseteq_{sce} (E \cap T_2)$ in T_2 . Since $U \subseteq T_2$ and T_2 is a direct summand of T, then U is a direct summand of T. By modular law, $E = E \cap T = E \cap (E^* \oplus T_2) = E^* \oplus (E \cap T_2)$. Since $U \subseteq E \cap T_2$ and $U \cap E^* = 0$, thus $U \oplus E^* \subseteq (E \cap T_2) \oplus E^*$ and hence $U \oplus E^* \subseteq E$. It is easy to show that $U \oplus E^*$ is a direct summand of T. We want to show that $U \oplus E^* \subseteq_{sce} E$ in T. Let $X \subseteq T$ and $\frac{E}{U \oplus E^*} + \frac{X}{U \oplus E^*} = \frac{T}{U \oplus E^*}$. Then E + X = T and hence $E^* \oplus (E \cap T_2) + X = T$. But

 $E^* \subseteq X$, therefore $(E \cap T_2) + X = T$. Now, $\frac{T}{U} = \frac{(E \cap T_2) + X}{U} = \frac{E \cap T_2}{U} + \frac{X}{U}$. Since $U \subseteq_{sce} (E \cap T_2)$ in T_2 , thus $U \subseteq_{sce} (E \cap T_2)$ in T. Hence $\frac{T}{U} = \frac{X}{U}$ This implies that T = X and hence $U \oplus E^* \subseteq_{sce} E$ in T. Then T is semihollow-lifting.

An \mathbb{R} -Module T is said to have the (finite) exchange property if for any(finite) index set I, whenever $T \oplus N = \bigoplus_{i \in I} Ai$, for Modules N and Ai, then $T \oplus N = T \oplus (\bigoplus_{i \in I} Bi)$ for Submodules Bi \subseteq Ai[9].

Now, we consider some conditions for a Module T_1 to be h-semismall T_2 -projective, when $T = T_1 \bigoplus T_2$ is semihollow-lifting.

Proposition10 Let $T = T_1 \bigoplus T_2$ be a semihollow-lifting Module. If T_1 has the finite exchange property and T_2 is hollow, thus T_1 is h-semismall T_2 - projective.

Proof: Let W be a Submodule of T such that $\frac{T}{W}$ is hollow and $T \neq T_1 + W$. Since T is semihollow-lifting, thus there is a direct summand E of T such that $E \subseteq_{sce} W$ in T. Since $\frac{T}{W}$ is hollow, thus by[3,Proposition7], $\frac{T}{E}$ hollow. Now, $\frac{T}{E} = \frac{T_1 \oplus T_2}{E} = \frac{T_1 + K}{E} + T = T_2 + E$. Assume $T = E \oplus E^*$, for some $E^* \subseteq T$. Since T_1 has the finite exchange property, thus $T_1 \oplus T_2 = T_1 \oplus X \oplus Y$, for some $X \subseteq E$ and $Y \subseteq E^*$. It is Clear that $T = T_1 + E + Y$ and $Y \cap E = B \cap E^* \cap E = 0$. So $\frac{T}{E} = \frac{T_1 + E}{E} + \frac{Y \oplus E}{E}$. Since $E \subseteq_{sce} (T_1 + E)$ in T, thus $T = Y \oplus E$. But $T = E \oplus E^*$ and $Y \subseteq E^*$ so, $E^* = Y$. Since $E^* \cap T_1 = Y \cap T_1 = 0$, thus $\frac{T}{T_1} = \frac{E \oplus E^*}{T_1} = \frac{E + T_1}{T_1} + \frac{E^* \oplus T_1}{T_1}$. By the second isomorphism theorem, $\frac{T}{T_1} \cong T_2$ thus $\frac{T}{T_1}$ is hollow. But $T \neq T_1 + E$ therefore $T_1 \subseteq_{sce} (E+T_1)$ in T and hence $T = E^* \oplus T_1$. Since $K^* = Y$, Thus by[10, lemma3.2], we get E has the finite exchange property. But $T = E \oplus E^* = T_1 \oplus T_2$, so there exists $Q \subseteq T_1$ and $F \subseteq T_2$ such that $T = E \oplus Q \oplus F$. It is Clear that $T = E + T_1 + F$. Now, $\frac{T}{E} = \frac{E+T_1}{E} + \frac{D \oplus E}{F_1} = \frac{F \oplus T_1}{T_1} + \frac{F \oplus T_1}{T_1} + \frac{E+T_1}{T_1}$. Since $T_1 \subseteq_{sce} (E+T_1)$ in T, thus $T = F \oplus T_1$. But $T = T_1 \oplus T_2$ and $F \subseteq T_2$, therefore $T_1 \subseteq_{sce} (E+T_1)$ in T, thus $T = F \oplus T_1$. But $T = T_1 \oplus T_2$ and $F \subseteq T_2$, therefore $F = T_2$ and hence $T = T_2 \oplus E$. Then T_1 is hollow $T = T_1 \oplus T_2$.

Let $T = \bigoplus_{i \in I} T_i$ be a direct sum of Submodules T_i . Recall that the decomposition $T = \bigoplus_{i \in I} T_i$ is called exchange decomposition (or exchangeable) if for any direct summand N of T we have $T = N \bigoplus (\bigoplus_{i \in I} N_i)$ with $N_i \subseteq T_i[11]$.

By [7, p.125], we have:

Remark11 Let $T = \bigoplus_{i \in I} T_i$ be a direct sum of Submodules T_i , then we have the implication:



We end this section by the following Proposition.

Proposition12 If T is a semihollow-lifting Module with exchange decomposition $T = T_1 \oplus T_2$ and T_2 is a hollow Module. Then T_1 is h-semismall T_2 - projective.

IOP Conf. Series: Materials Science and Engineering **871** (2020) 012050 doi:10.1088/1757-899X/871/1/012050

Proof: Assume T is a semihollow-lifting Module with exchange decomposition $T = T_1 \oplus T_2$. Suppose E be a Submodule of T such that $\frac{T}{E}$ is hollow and $T \neq T_1 + E$. Now, $\frac{T}{E} = \frac{T_1 \oplus T_2}{E} = \frac{T_1 + E}{E} + \frac{T_2 + E}{E}$. Since $T \neq T_1 + E$ and $\frac{T}{E}$ is hollow, Thus $E \subseteq_{sce} (T_1 + E)$ in T and hence T = T + E. But T is semihollow-lifting, so there exists a direct summand D of T such that $D \subseteq_{sce} E$ in T. Since $\frac{T}{E}$ is hollow thus by[3,Proposition7], $\frac{T}{D}$ is hollow. Clearly $T \neq T_1 + D$. But, $\frac{T}{D} = \frac{T_1 \oplus T_2}{D} = \frac{T_1 + D}{D} + \frac{T_2 + D}{D}$, therefore $D \subseteq_{sce} (T_1 + D)$ in T and hence $T = T_2 + D$. It is enough to prove that $T = T_2 \oplus D$. Since the decomposition $T = T_1 \oplus T_2$ is exchangeable and D is a direct summand of T, thus we have $T = D \oplus T_1 \oplus T_2^*$ for Submodules $T_1 \cong T_1$ and $T_2 \cong T_2$. Hence $T = D + T_1 + T_2^*$ and $T_2 \cap T_1 = 0$. Since $T = T_1 \oplus T_2$, thus by the second isomorphism theorem, $\frac{T}{T_1} \cong T_2$. But T_2 is hollow, thus $\frac{T}{T_1}$ is hollow. But $\frac{T}{T_1} = \frac{D + T_1 + T_2^*}{T_1} = \frac{D + T_1}{T_1} + \frac{T_2 \oplus T_1}{T_1}$, therefore $T_1 \subseteq_{sce} (D + T_1)$ in T and hence $T = T_2^* \oplus T_1$. Since $T = T_1 \oplus T_2$, thus $T_2 = T_2^*$. But $T_2 = D \oplus T_1^* \oplus T_2^*$, so $T = D \oplus T_1^* \oplus T_2$.

Refrences

[1] Diallo A. D., Diop P. C., Barry M. 2017. On S-quasi-Dedekind Modules, Journal of Mathematics Research, 97-107.

[2] Mahmood L. S., Shihab B. N., Khalaf H. Y., 2015. Semihollow modules and semilifting modules, International Journal of Advanced Scientific and Technical, 375-382.

[3] Hussain M. Q., 2017. "SemiHollow Factor Modules", 23 scientific conference of the college of Education, Al-mustansiriya uiversity, 350-355.

[4] Salih M. A., Hussen N. A., Hussain M. Q., 2019. SemiHollow-Lifting Module, Revista Aus 26.4, 222-227.

[5] S. H. Mohamed and B. J. Muller, 1990. Continuous and discrete modules, Londo Math. Soc. LNS., 147 Cambridge Univ. Press, Cambridge.

[6] D. Keskin, 1988. Finite direct sums of (D1)-modules, Turkish J. Math., 22(1), 85-91.

[7] J. Clark, C. Lomp, N. Vanaja and R. Wisbauer, 2006. Lifting modules, Frontiers in Mathematics, Birkhäuser.

[8] R.Wisbauer, 1991. Foundations of module and ring theory, Gordon and Breach, Philadelphia.

[9] S. H. Mohamed and B. J. Muller, 1990. Continuous and discrete modules, London Math. Soc. LNS., 147 Cambridge Univ. Press, Cambridge.

[10] D. Keskin, 2000. On lifting modules, Comm. Algebra, 28(7), 3427-3440.

[11] S. H. Mohamed and B. J. Müller, 2002. Ojective modules, Comm. Algebra, 30(4), 1817-1827.